





PRODUCTS

COMMERCIAL



Human activity releases huge volumes of *carbon based* plastics to the environment due to the lack of proper waste disposal and recycling and their inability to Compost.

Plastics never truly degrade, but rather break down into smaller pieces floating in waterways and oceans.

Plastic disrupts marine life and moves up the food chain which eventually ends up in the human body resulting in many health risks including digestive problems and various forms of cancers.

Globe Commercial Products is proud to introduce our Compostables takeout container program to start reducing your carbon footprint. Eat clean with Compostables by Globe.

MADE FROM 100% RENEWABLE RESOURCES. OUR DISPOSABLES ARE FOOD SAFE, NATURAL, NON-TOXIC AND BPA FREE.

COMPOSTABLES BY GLOBE ARE A COLLECTION THAT WON'T STAY IN LANDFILLS FOR YEARS, POLLUTE OCEANS OR POSE A THREAT TO MARINE LIFE. Ideal for restaurants, food trucks, bakeries, party favors, coffee shops, hotels, offices, gatherings, take-out orders, picnics, events and other businesses.

Perfect for both hot and cold foods, Microwave Safe, Freezer Safe, Grease Resistant and Hot/Cold beverages too. Globe offers a full line of Sucarcane and Paper based Compostable Solutions.







SAY NO TO PLASTIC WITH OUR ECO-FRIENDLY LINE Premi 100% Plant

Premium 100% Compostable Plant Based

SIMPLE AND SMART CHOICES FOR TODAY AND TOMORROW



BAGASSE 100% Compostable NATURAL Premium Plant Based

Our bagasse plates, bowls and hinged containers containers are made of 100% sugarcane fiber, a sustainable, renewable, and biodegradable material making it a great alternative to traditional carbon based plastics or foam.

These quality fiber take-out containers are microwave safe, freezer safe and great for hot and cold foods.

Bagasse material is cut resistant, strong enough to hold a variety of food without bending or breaking.

- · Leak free, sturdy, stackable and engineered for heavy duty use
- Eco-friendly, soak-proof, leak-proof, and a sturdy alternative
- Dual-tab for secure closure on hinged containers
- Sugarcane pulp is hygienic and is 100% biodegradable in 90-180 days



Compostable Hinged Containers

	Item #	Size	PCS/BAG	BAG/CASE	CASE PACK
	6010	6" x 6"	50	4	200
	6011	8" x 8"	50	4	200
	6012	9" x 9"	50	4	200
	6013	9" x 6"	50	4	200
-					

Compostable Hinged Containers with Compartments

Item #	Size	PCS/BAG	BAG/CASE	CASE PACK
6014	8" x 8" 3 Compartments	50	4	200
6015	9" x 9" 3 Compartments	50	4	200
6016	9" x 6" 2 Compartments	50	4	200





BAGASSE 100% Compostable NATURAL Premium Plant Based





Compostable Plates

Item #	Size	PCS/BAG	BAG/CASE	CASE PACK
6020	6"	50	20	1000
6021	7"	50	20	1000
6022	9"	50	10	500
6023	10"	50	10	500

Compostable Plates 3 Compartments

Item #	Size	PCS/BAG	BAG/CASE	CASE PACK
6024	9" 3 Compartments	50	10	500
6025	10" 3 Compartments	50	10	500



Compostable Bowls

Item #	Size	PCS/BAG	BAG/CASE	CASE PACK
6040	12 oz	50	20	1000
6041	16 oz	50	20	1000
6042	32 oz	50	10	500





KRAFT 100% Compostable NATURAL Premium Plant Based

Our Kraft line is a cost effective, ideal alternative to traditional plastic or foam containers that performs like plastic and composts like a piece of fruit!

Feature an easy-closing folding lid to keep your delivery leak free with four flaps and a tab lock on top ensuring no transportation spills.

- Stackable, leak & cut resistant
- · Available in several sizes to work with a wide range of food
- Made with kraft paper stock using a chlorine-free manufacturing process
- Sturdy and leak proof design



Kraft Take Out Food Containers

Item #	Size	PCS/BAG	BAG/CASE	CASE PACK
6060	5"l x 4.5"w x 2.5"h # 1	50	4	200
6061	8.5"l x 6.25"w x 2"h # 2	50	4	200
6062	8.25"l x 6.5"w x 2.5"h # 3	50	4	200
6063	7.75"l x 5.5"w x 3.5"h # 4	50	4	200
6064	6"l x 4.75"w x 2.5"h # 8	50	4	200





CUTLERY & STRAWS 100% Compostable NATURAL Premium NATURAL Plant Based

over time.

Our eco-friendly, 100% compostable and biodegradable natural smooth birch wood cutlery is your best alternative to plastic dinnerware.

Plastic pollution adversely affects the environment and takes many years to compost.

Use the wooden cutlery for any dish, from meat and veggies to dessert!

- 100% natural, high quality, smooth birch wood
- Non-toxic and chemical free
- 6.5" wood fork, knife, spoon, napkin in a compostable paper bag
- Sturdy, elegant and smooth disposable wooden utensils



Wood Fork, Knife, Spoon and Napkin in Paper Bag

DAOIOAOE

Paper Straws, Wrapped

nem #	Size	PUS/BAG	BAG/CASE	CASE PACK	nem 4	4 5120	PU3/B	AG BAG/CASE	CASE PACK	
6051	6.5"	1	500	500	6095	7.75	250	20	5000	
			11							_
	A				O:					
				÷	別:		비 순독 비낭			
	R			(\odot					
	1(00%	Recycle	d Hota	or Cold	Grease	Microwav	e Freezer		
		ostable	Paper		Jse	Resistant	Safe	Safe		
	Comp		гарег	C	00C	ICE3I3IUI II	Jule	Sule		

ldeal for beverages such as water, pop/soda, iced tea, and iced gies to coffee that are in cups, bottles, cans and tumblers.

- Long lasting and durable
- · Contain no chlorine or fluorine

natural cellulose food-safe paper.

- Taste and odour free
- Extra strength 4-ply paper straws 7.75" L and 0.25" D

These paper straws are composed of environmentally friendly

BPA-Free materials that will hold maintain sturdiness in liquids



COMPSTABLES

CUPS & LIDS 100% Compostable NATURAL Premium NATURAL Plant Based

Our 100% compostable paper cups promote sustainability and are an alternative to plastic & Styrofoam cups.

Our cups are lined with PLA which is a renewable bio-resin made from corn.

As a liner, it resists leaking and is used instead of the typical petroleum-based cup lining.

These non-toxic, classic hot/cold cups are ideal for serving coffee, tea, and any cold beverages.

Our lids are completely bio-based and compostable. They are made of sugarcane pulp which will compost 100% in 90 to 180 days.

Smooth finish and dome top style for comfort and easy sipping.

- Elevated spout for comfortable and enjoyable sipping
- Cups sold separately
- Pin hole for improved air flow
- · Compostable premium quality alternative to plastics
- Stackable design for space-saving storage and easy dispensing
- Rolled rim provides tight, snug spill-free fit
- Compostable food services product
- Lids sold separately



Single Wall Hot/Cold Compostable Paper Cups

Item #	Size	PCS/BAG	BAG/CASE	CASE PACK
6052	6052 8 oz		20	1000
6054	12 oz	50	20	1000
6055	16 oz	50	20	1000
6056	20 oz	50	20	1000

Compostable White Dome Sip Lids

Item #	Size	PCS/BAG	BAG/CASE	CASE PACK
6080	8 oz	50	20	1000
6081	10 oz - 20 oz	50	20	1000



Right Product. Right Price.

www.GlobeCommercialProducts.com ☑ Orders@GlobeCommercialProducts.com

• 1-877-789-0249

6300 Kennedy Road Unit #4, Mississauga, ON L5T 2X5